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(4) BAARE (B) eTag (C) #&#F (D) iCash
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(A) GPS (B) NFC (C) RFID (D) 4G
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(A) Facebook (B) Java (C) Hadoop (D) Data Warehouse

4. TR E T R-—REeGHERAET  TEZRAMNKSF IV~ &H - BHE
# o 3% 3t& & Ross lhaka #» Robert Gentleman o
"(A) MapReduce (B) Java (C) C# (D) R

5. 4% Yahoo #v Google # F 3| % & » T LM B ey FoF > HEFNERSAF —REF
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(A) OLAP . (B) SEO (C) SSID (D) ERP
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FoarHEE&RE NOT (A Xor B )AR?
(A (NOT A) AND (NOT B) (B) (NOT A) OR B
(C) (NOT A) Xor B (D) (NOT A) OR (NOT B)

AHHREREY o T M H ERET?
(A) NOT (B AND B) = 0 (B) NOT (A OR B) = (NOT A) OR (NOT B)
(C) NOT (AOR A) =1 (D) NOT (A OR B) = (NOT A) AND (NOT B)

AT TP et » RE R AT 7
1010 And 1010 Or 1010 Xor 1000 Xor 1000
(A) 0 (B) 1 (C) 1000 (D) 1010

2| B &8 E Facebook 4835 » 31 A T 747 &3 42 & i& k. Facebook 49367
(A) NAT (B) AP (C) Transport (D) VPN

hodirigE } & K PTT BBS 483k 7
(A) http://ptt.cc (B) bbs://ptt.cc (C) telnet ptt.cc (D) bbs ptt.cc

Switch & F 7|88 — & o937
(A) Data Link (B) Network (C) Transport (D) None of the above.

DNS (Domain Name Service) Z#EBALMBMANEE > HEZ BT ABRBRE
8y 49354 %% (Domain name) 2 IP address &#4¥/EF& - BATTRE HABLBEE &
ICANN (The Internet Corporation For Assigned Names and Numbers) £fo-ff -
ME—BE - BRHHESRIIELEERREEE - UL NERAF > ETHTIAHE
PR 27

(A) Facebook (B) DNS (C) Google (D) TWNIC

F HU4TE R & #E 1P?
(A) 192.168.1.2 (B) 10.10.10.10
(C) 172.16.1.2 (D) 127.0.0.1.
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15 F #4748 R & E sk 69 F 493838 £ (subnet mask) ?
(A) 255. 255, 255.0 -(B) 255.255.251.0
(C) 255. 255, 252.0 (D) 255.255.240.90

16. THAMRBHTILHERBERRAMTY

F(X,Y,ZW)=XYZW +XYZW + XYZW + XYZIW + XYZW + XYZW

W YT +X) ® Y(X+Z) (© Y(X+Z) (@) XFT+W)

17. How many addresses can we have on a Class B TCP/IP network?
(A) 65534 (B) 254 (C) 255 (D) 65535

18. When we setup the WiFi network, we receive a set of static business class [P addresses
from the ISP. Tt is a class A network with the network IP address 8.8.0.0 and the last
IP address 8.8.0.7 as the broadcast address. The gateway IP address is 8.8.0.1. What
would the subnet mask be for this Class A addressing scheme?
(A) 255.255.255.248 (B) 255.255.255.0 (C) 255.255.0.0 (D) 255.0.0.0

19. Which of the following wireless standards provides the HIGHEST speed and largest
coverage area?

(A) 802.11a (B) 802.11b (C) 802.11g (D) 802.11ac
20. Let (10)g + (10)16 = (X )10, the value of X is .7
(A) 20 (B) 11 (C) 30 (D) 24

21. $UTF Pl E 445 > S 9Bt A 48 2 (B printf % Ede—2R)
(4) 56 (B) 125 (C) 126 (D) 216
int 1, j, k;
for (i = 0; i <= 5; it++)
{
for (j =0; j <=b; j+b)
( .
for (k = 0; k <= 5; kt+)
printf( “%d ” , 1i);
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22. AT T PUBHEAS > Syl oo %3t 4 %48 2 (B printf % B pn—zk)
(A 56 (B) 125 (C) 126 (D) 216
int i, j, k;
for (i = 0; 1 <= 5; i+)
{ ;
for (j = 0; j <=5; j+H)
{
for (k = j; k <= 5; ki)
printf( “%d 7 , i);

23. BUATTF FIBRHRAE - W H 9 BB A B8 ? (B printf % Epv—k)
(A) 56 (B) 125 (C) 126 (D) 216

int i, j, k;
for (i =0; 1 <=5; i++)
{
for (j = i; j <=5; j+d)
{

for (k = J; k <=5; ki+)
printf( “%d 7 , i):
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int J, Sum;
Sum = 0;
for (J=1; 7<= 5; J+H)
{ |
if J%2==1)
{
Sum = Sum + J * 2;
}
else
{
Sum = Sum + J;
}
}

25. & A(L) RELT - #HM AG) XEAT?
a9 G 11 © 17 D) 20

function A(int i)
{
if (i==10)

return 1;
else if (i == 1)

return 2;
else if (i == 2)

- return 3;

else

return ACi-1)+A(I-2)+A(I-3);
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(A x°3 +y°3 (B) x"3 +3xy +y°3

(C) x"343x"2y+3xy " 24y"3 (D) x"3+2x"2y+3x" 2y 2+2xy"21y"3

27.1og 10 + log 10 + log 10 & F &7 ?
(A) log 30 (B) log 100 (C) log 1000 (D) s E%3E

28. AT T 7445 » ShBER A7 (A) 21 (B) 28 (C) 29 (D) 35
int S, K;

K=1;
S = 0;
while (K < 8)
{
if (K <4)
{
K=K+ 2
S=S+K
}
else
{
K=K+1
S=8+K
}
}

printf( “%d ” , S);

2.4 s A—RESH 5 2T % - HM s ALV ERETFRE VN (FRERALRET
SzBEe R KR)
(A5 B 15 ()25 (D) 35
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30.

31.
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33.

34.
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36.

BT ERSG MBERAEM? () 4 B0 © 6 (D) 10
int A, B, C;

A=1;
B = b;
C=0;

for (C=A-B; C<=4A +B; C+t)

{}
printf( “%d” , C);

A complete graph is a graph with pairwise adjacent vertices. LetrG be a
complete graph with n vertices. How many edges does G have?
(D n-1 B)n © nn-1)/2 D) n(ntl)/2

How many edges are there in a tree with n vertices?
() n-1 B)n (€ n-1)/2 (D) nlntl)/2

The height of a binary tree is defined as the number of edges in the longest
root-to-leaf path. Let T be a binary tree with 100 vertices, and let a and
b denote the maximum and the minimum possible values on the height of T. What
is (a, b)?

(A (99, 6) (B) (99, 7 (C) (100, 6> (D) (100, T)

Let T be a binary tree with vertices a, b, ¢, d, e, f, g and let abdefgc
and dbfegac be the preorder and inorder traversal of T, respectively. What
is the postorder traversal of T7

(A) abcdefg  (B) dfgebca (C) achdegf (D) dgefbac

Which of the following is a First-In-First-Out data structure?
(A) Array  (B) Linked-list (C) Stack (D) Queue

Let M be the adjacency matrix of a graph G with 20 vertices. How many entries
are there in M?
(A) 200 (B) 400 (C) 20 (D) 40
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37.Let f(n) = 10n + 3. What is the order of f(n)'? ,
(A) O(n) (B) O(nlog n) (C) 0(n"3) (D) all previous ones are correct.

38.4 S A—4 10 Miakzhs - B S 2AMAEFRSABAM?
(A) 1024 (B) 100 () 10 (D) 9

39. THITH B F bR 7
(A) 2444648 (B) 1424448 (C) 2, 4, 6, 8 (D) 1, 2, 4, 8

40. 4 A B— 3x4 24 B BH— 4xT 255 - HP A 2 B MRz EBETA
G |
(A3x7  (B) 3x4x7  (C) 40 (D) sb—sp M fikiafk
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